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(Q1) 16 points:   Select the best correct answer and fill it in the following table.
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1.  The point of intersection of the line 
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 and the plane parallel to the xy-plane and containing the point 
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2.  The two lines  
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  are:
a.  intersecting at a point but not perpendicular         b.  skew        c.  parallel           d.  perpendicular
3.  The natural domain of  
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a.  
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4.  If the distance between the point 
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 and the xy-plane is  
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5.  The equation 
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  represents:

a.  a sphere           b.  an elliptic paraboloid           c.  an elliptic cone               d.  a point
6.  The rectangular coordinates of the point  
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 are given by  
[image: image31.wmf]=

)

,

,

(

z

y

x


a.  
[image: image32.wmf])

0

,

1

,

3

(

            b.  
[image: image33.wmf])

0

,

2

,

3

2

(

                         c.  
[image: image34.wmf])

0

,

3

,

3

3

(

                         d.  
[image: image35.wmf])

0

,

4

,

3

4

(
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8.  Let  
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(Q2) 9 points:   Let  C  be the curve given by:                                                                        z      
                          C:   
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(a) (2 points)  Sketch the graph of the curve  C  with its orientation. 
(b) (2 points)   Show that the parametric equations of the tangent                                                                 y
                       line  
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   to the curve  C  at  
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(c) (3 points)   Find the equation of the plane containing the two endpoints of the curve  C  and parallel to  

                      the line  
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  in part (b) [write the details, not only the final answer.] 
(d) (2 points)   In general, for given two points  A, B  and a given line  L, how many planes in 3-space does 

                      the following sentence determine? Consider all cases.
                              " The plane containing two points  A, B  and parallel to a line  L. "    
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